Crossconnect-Table, double checked (all ICs removed, don't forget: this was handmade and may contain errors)

Part] X1 IC1 IC2 IC3 IC4 IC5 IC6 IC7 IC8 IC9 ICI0 Rl R2 R3 R4 R5 R6 Ci1 C2 D1 D2 C3
Part Desc Pin (+) Pins (connected to Minus - )
GND 1] 1,21 | 8,15 8 7 8,15 8 7 8,15 14,20 14 1,21 2 2
RDY 2l 2 2
J1(out) 3[ 3 14 7 3
/IRQ 41 4 4
N.C. 5[ 5 5
/NMI 6] 6 6
Sync 7 7
Vcc 8] 8 16 2,3,11,16 14 16 16 14 16 1,27,28 1,28 8 2 1 1 1
A0 9 9 14 9
Al 10| 10 2 2 10
A2 11] 11 5 12 11
A3 12| 12 11 12
A4 13| 13 13 10 13
A5 14| 14 3 6 14
A6 15| 15 6 4 15
A7 16| 16 10 2 16
A8 17 17 10 25 25 17
5 A9 18| 18 24 24 18
‘% Al10 19] 19 21 21 19
B All 20| 20 23 23 20
8} GND 21| see X1, pin 1 (GND) see X1, pin 1 (GND) see X1, pin 1 (GND see X1, pin 1 (GND) see X1, pin 1 (GND)
:,- Al2 22| 22 14 2 2 22
x Al3 23| 23 1 XXX
Al4 24| 24 12 2 24
Al5 25| 25 11 25
D7 26| 26 19 19 26
D6 27| 27 18 18 27
D5 28| 28 17 17 28
D4 29| 29 16 16 29
D3 30| 30 15 15 30
D2 31| 31 13 13 31
D1 32| 32 12 12 32
DO 33] 33 11 11 33
R//W 34| 34 15 34
N.C. 35| 35 35
N.C. 36[ 36 36
@0 (in) 37| 37 1,10 XXX
S.O. 38| 38 38
@2 (out) 39| 39 39 1
/IRES 40| 40 1,4,10,13 40
Part| X1 IC1 IC2 IC3 IC4 | IC5 IC6 IC7 IC8 IC9 ICI0l R1 | R2| R3] R4 R5| R6| C1 | C2| D1 | D2 | C3
= A13 23[ XXX | 13 23
2 go@n) 37 xxx 11 37
Part] X1 IC1 IC2 IC3 IC4 | IC5 IC6 IC7 IC8 IC9 ICI0l R1 | R2| R3] R4 R5| R6| C1| C2| D1| D2 | C3
A7 3 3 3 3 3
A6 4 5 4 4 4
A5 5 7 5 5 5
A4 6 9 6 6 6
© A3 7 9 14 7 7
Q A2 8 7 13 8 8
Al 9 4 12 9 9
AO 10 12 11 10 10
/OE 22 5 22 XXX
A13 26 6 9,10 26 26
Part] X1 IC1 IC2 IC3 IC4 | IC5 IC6 IC7 IC8 IC9 ICI0l R1 | R2| R3] R4 R5| R6| C1 | C2| D1 | D2 | C3
o /CS1 20 4 20,22
€ RrRiw 27 13 27 2
Part] X1 IC1 IC2 IC3 IC4 | IC5 IC6 IC7 IC8 IC9 ICI0l R1 | R2| R3| R4 R5| R6| C1 | C2| D1| D2 | C3
— 1 9 1
o 2 12 2 | 2
Part] X1 IC1 IC2 IC3 IC4 | IC5 IC6 IC7 IC8 IC9 ICI0l R1 | R2| R3| R4 R5| R6| C1 | C2| D1| D2 | C3
R1 1 1 2
R2 1 7 1 2
C1 1 6 1
N 1 15 2 1
o 2 14 2
R3 1 1 2
R6 1 11 3,11 1
Part] X1 IC1 IC2 IC3 IC4 | IC5 IC6 IC7 IC8 IC9 ICI0l R1 | R2| R3] R4 R5| R6| C1 | C2| D1 | D2 | C3
1 1 8
3 3,4
o 5 5 6
8] 6 9 6
8 8 (not connected to anything else)
12 4 12
13 12 13
Part] X1 IC1 IC2 IC3 IC4 | IC5 IC6 IC7 IC8 IC9 ICI0l R1 | R2| R3] R4 R5| R6| C1 | C2| D1| D2 | C3
o 5 5 (not connected to anything else)
Q 13 13 (not connected to anything else
IC4 1 7 1
IC5 1 2 1
© 5 5 (not connected to anything else)
Q 9 9 (not connected to anything else)
IC7 1 3 1,2,9,10
Part] X1 IC1 IC2 IC3 IC4 | IC5 IC6 IC7 IC8 IC9 ICI0l R1 | R2| R3] R4 | R5| R6| C1| C2| D1 | D2 CL3L3
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